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Instructions for the candidates:

1.

g/l OMR GT% YF% G¥ 3977 H97 YReawl HHIie (10 Bl ) 3a9d
fered |

Candidates must enter his/her Question Booklet Serial No. (10 Digits) in the
OMR Answer Sheet.

geeTrRlf JeTeTT S1u Il 4 & SV &/

Candidates are required to give answers in their own words as far as
practicable.

. TR aiv SR T Ry g7 e quie Al avd &

Figures in the right hand margin indicate full marks.

o=l @l 17 Ydd 9@+ P o1y Gl @l 15 [A9C @7 Saiad GHT Q97
TIT &/

15 minutes of extra time have been allotted for the candidates to read the
questions carefully.

T8 HoT GadT & @vsl 4 & - @Us—3 U9 @Ue—q/

This Question booklet is divided into two sections-Section-A and Section-B.
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6. GUS—31 H 100 TvGI7G HoT & [or7d ¥ PIT 50 HeI BT & TV G777
8/ 7 50 75 W 3fEF T FAX IF G HIH 50 HEI BT & HoAIHT &I/
T&% F97 & [o17 1 3@ [FEiva &/ §7%7 Wal Sw &l IyaTe] &erd T
OMR SV 5% 7 133 79 W& [dbcT & ot/ Hiet Jicd 97 & J7IE HY/
41 o gBIe & FgeTv,/ ave yarel /&S, TG 3lc T OMR FIV G3%
H JIRT BT T8 SIRIAT GOET IR STHIRT 81T/

In Section-A there are 100 objective type questions out of which only 50
questions are to be answered. If more than 50 questions are answered, then
only first 50 questions will be evaluated. Each question carries one mark. For
answering these darken the circle with blue/black ball pen against the correct
option on the OMR Answer Sheet provided to you. Do not use
whitener/liquid/blade/nail etc. on OMR Answer sheet /otherwise the result will
be treated invalid.

7. GUS—§ H 30 o7y TV FIT &/ [or7H W gedd H 2 S [EIRT & o7
W 781 15 FF @7 G &7 JfAard 8/ 3P SfafRwT 37 @UE H 8 JE
TTINT 797 1o T 8 [or7H W 8] 4 T T STV & 8/ AP HIT P
foro 5 g1 fFEra &/

In Section-B, there are 30 sheet answer type questions, each carrying 2 marks,
out of which any 15 questions are to be answered. Apart from this, there are
8 long answer type questions, out of which any 4 questions are to be answered.
Each question carries 5 marks.

8. ¥ B P FeiFeii1H SYBYT BT FIIT qUaAT dfoid &/

Use of any electronic appliances is strictly prohibited.
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gvs — 3/ SECTION-A
I&II-S U/ Objective Type Questions

T G&IT 1 & 100 TF & T & G 7V dpey 79 717 8 o779 & v wah
g/ 18T 50 7o @& GV 397 FT g TV @&l 13wy & OMR ¥ gv
fafeaa &Y/ 50 x 1 =50

Questions nos. 1 to 100 have four options, out of which only one is correct.

Answer any 50 questions. You have to mark your selected option on the OMR-

Sheet. 50x1 =050

1. fte sefema # /9 # 9 fhaer sieaae fear smar 272
(A) ofera aRaR (B) afmTd wH
(C) <fhTd SE (D) T ¥ |
Which of the following is studies under micro economics?
(A) Individual Family (B) Individual Firm
(C) Individual Industry (D) All of these

2. A |ree Ud AT siaedshdr &l faeR feaq faar?
(A) TsH fEe (B) i
©) i (D)  Hrgere
Who gave the concept of Limited Resources and unlimited wants?
(A) Adam Smith (B) Marshall
(C) Robbins (D) Samuelson

3. SUGA & 71 # | B9 A gcdb 77
(A) (B) s
(C) ol (D) SUYH WA
Which of the following is a factor(s) of production?
(A) Land (B) Labour
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(C) Capital (D) All the above

. A9 UBSl “ATghl” I BT WART BN Tl &

(A) e (B) dIfesT

(C) @4 (D) TR fibwr

The word “micro” is firstly used by:

(A) Marshall (B) Boulding

(C) Keynes (D) Ragnar Frish
. “HArgepIeT ST 312l BT 2 BIel 7/ § HI—dT IR o

(A) 3RdT (B) U&

(C) oA (D) Ui

‘Micros’ Which means ‘small’ belongs to :

(A) Arabian word (B) Greek word

(C) German word (D) English word
. iR srefemell § 9 B HeavERl [EaRgRT & T8 87

(A) P (B) U

(C) & (D) AR

Which of the following is not a welfare economist?

(A) Canon (B) Pigou

(C) J.B.Say (D) Marshall
. Sl BT BT FART

(A) T IATET B (B) & IS B

(C) Ied IR Bl (D) SWIH I

faRoT & &

The central problem of an economy is:

(A) What to produce (B) How to produce

(C) How to distribute (D) All the above

produced goods
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8. fora arefegeerr # fAoll ud Ardoife &5 & Jeg—aiRded sidr 27

(A)  Yoiraral (B) ATSIATST
(C) fafsm (D) 7 ¥ BIg 7l
Which economy has a co-existence of private and public sectors?
(A) Capitalist (B)  Socialist
(C) Mixed (D)  None of these
9. fra refeaen H HHd 9F & AMER R [ forg ot 872
GVERSEIECIE (B) gofraraT
(C) fafra (D) E9H ¥ BIg T
In which economy decision are taken on the basis of price mechanism?
(A) Socialist (B) Capitalist
(C) Mixed (D) None of these
10.3cUTE FRATGT d5h D1 @Tel [IRe @
(A) 9 A R (B) TR ¥ 9
(C) oW A A1 (D) & ¥ W
The slope of a production possibility curve falls:
(A) From left to right (B) From right to left
(C)  From top to bottom (D) From bottom to top

11.S99I<HT AIER BT T fhar Fdr 2

(A) & A H (B) &Ud IfeeH H

(€)@ Rigia & (D) =T ¥ P T

Consumer behaviour is studied in :

(A)  Micro Economics (B)  Macro Economics

(C) Income Theory (D)  None of these
12,7799 &1 ¥orF o o 5 & 87

(A) AT P R

(B) <= SudiiRrar s H
(C) |- Sudiirar s
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(D) SUHRHI DT g9d

Which is the First law of Gossen?

(A) Law of Demand

(B) Law of diminishing Marginal utility
(C) Law of Equi-Marginal utility

(D) Consumer’s Surplus

13997 Y@ g9kl @
(A)  Ted rgurd (B) 3ma srgurd
(C) T T (D) =T 9 BE TE
Budget line indicates
(A) Price Ratio (B) Income Ratio
(C) Costratio (D) None of these
14. 33191 g @1 &l feifd § 9 fead ardl Sl 27
(A) dedl HHrFT YR <8 (B) ¥IHT ®UTIRY &)
(C) <M UftRemoe <= (D) T 9 Pl T8l
From which of the following is the slope of indifference curve is
measured?
(A) Increasing MRS (B) Marginal rate of
transformation
(C) Marginal rate of (D) None of these
substitution (MRS)
15.9%] &1 8 3FTCl gpbls & YANT A Arid SUATREr
(A) Hel ® (B) ¥l ®
(C) Rer Ed g (D) I B SN '
Consumption of every additional unit of commodity, marginal utility
(A) Diminishing (B) Increasing
(C) Remains Constant (D) Become & zero
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16. 59 SYAAAr 89 &9 e 27

ATU AMU
L ®
AQ AQ
© =5 () v

How we calculate marginal utility?

A 5 B) =

© D) 5o
17.3UAIR@r &1 A9 B ST Fhll @

(A) Ha1 B gRI (B) agall & fafg grI

(C) T & 99 gNI (D) STH 9 P A8l

Utility can be measured by:

(A) Money (B) Exchange of goods

(C) Weight of the goods (D) None of these
18.IUIIRTAT &7 hH drde RHgld fha- fear?

(A) Wi (B) farg

(C) FRaw 3R o (D) Rarst

Who propounded the ordinal utility theory?

(A) Marshall (B) Pigou

(C) Hicks & Allen (D) Ricardo
19,31 H IUATRIAT &7 ATLR:

(A) &l a&g 4 smazaa (B) 3Hg

o B B A

(C€) (D) SuTeFaT

Utility in economics means:

(A) Want satisfying power (B) Pleasure

of a commodity
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(C) Happiness (D) Usefulness
20. % ITAREAT 519 ReRr B8R & d9 ARG IUAIRET B8Rl &

(A) A (B) &T®
(C) =omHD (D) TomeH®
When total utility is fixed then Marginal utility is:
(A) Zero (B) Positive
(C) Negative (D) Qualitative
21907 9% &1 AHETI: I BT &
(A) 9 ¥ SR FW BT 3R (B) 91 ¥ SR AR @ AR
(C) X—31&T & AR (D) Y37 & AR

Demand curve generally slopes

(A) Upward from left to right (B) Downward from left to right

(C) Parallel to x-axis (D) Parallel to y-axis
22,801 ¥ HH & frEfeiad § b 9 BRI 87

(A) 3mF H B (B) DRl @ AT | HHI

(C) SUIRHT DI Bfd | HHI (D) Swt F

Which of the following is a reason for fall in demand?

(A) Fall in income (B) Fall in number of buyers

(C) Fall in taste of consumer (D) All the above

23.0 gV FoTaT Uh—g¥R & gqel YANT fha1 STl €, bl o

(A) & T (B)  RerHIa= a¥gy
(C) SRS IY (D) T I B T
Goods which can alternatively be used, are called:

(A) Complementary goods (B)  Substituted goods
(C) Comfort goods (D) None of these

24. B! & oI § gig B9 F = B AN

(A) dedl @ (B) ReR <&ar g
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(C) wed @ (D) T ¥ BIs &I

With the rise in coffee price, the demand of tea:

(A) Rise (B) Remains stable

(C) Falls (D) None of these
25. 7 # RIS 9l HT SRR &

(A) =T aAr AR (B) S U4 X

(C) ol¥ Td WTEl (D) =T AT BB

In the following the example of substitute goods is:

(A) Teaand Sugar (B)  Shoes and Socks

(C) Pen and Ink (D) Teaand Coffee
26.fdeTfHar o1 avgall o |4 @

(A) dArER B © (B) dMER Bl &

(C) ITH A@ER Bl & (D) YUIAT dAEER B §

For luxury goods the demand is:

(A) Inelastic (B) Elastic

(C) Highly elastic (D) Perfectly inelastic
27.3®Ts ¥ HH A0 DI A DI FrEfeRad d§ S @b war &2

(A) ATIRID 9] (B) SIRMHaID 9]

(C)  faenfar %y (D) S WA

Which of the following shows elasticity less than one?

(A) Necessary Goods (B) Comforts goods

(C) Luxuries goods (D) All of the above

2891 @ g A4 & forg gfererd ar squifae Gfd &1 gfqures e
ferar?
(A) Hrefet (B) veTad
©) foTw (D) &7 A B T
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Who propounded the percentage or proportionate method of measuring

elasticity of demand?

(A) Marshall (B) Flux

(C) Hicks (D) None of these
29,101 #1 dra fbad UeR @I Bl 87

(A) o (B) U=

<) @ (D) wra

How many types of elasticity of demand has?

(A) Three (B) Five
(C) Six (D) Seven
30. 3T~ IRl &1 AR @ @ B 7
(A) ™ (B) gTIHD
(C) =D (D) W SBIE | BH
Elasticity of demand for substitute goods is:
(A) Zero (B) Positive
(C) Negative (D) Always less than unity
one

319 SUIHT @1 I ¥ gig | a%] X @1 A1 HF 8 Sl & o 9%
‘X By
(A) STaT et I (B) IS I
(C) faemfm a%g (D) ffhT Ty

If the increase in income of consumer reduces the demand of commodity
‘X’, the commodity ‘X’ will be:
(A) Life Saving goods (B) Essential goods
(C) Luxury goods (D) Giffin Goods
32|07 @ HIFa drd d AT &
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(A) @Ha # gRadd & (B) #hT # uRacdH

5} . ~ ¢
DIRUT HH] ﬁf YIRdd-

(C) d~<dfad Mg # gRac+ (D) ®Wd ¥ gRad
Price elasticity of demand means:
(A) Change in demand due (B) Charge in demand
to change in price
(C) Charge in real income (D) Charge in price
33.31GH HeA- H IUTeA fhadT Bt &7
(A) DHT & (B) S@fl & AR &I
(©) & @ Pl (D) T & BIE T
In production function, production is a function of ?
(A) Price (B) Factors of production
(C) Total expenditure (D) None of these
34 rEdHTA ST hard o g 4 # | fes 27?
(A) w1 & fE 9 (B) SRy gfg s o
(C) U9 & wfepe w4 (D) AT @ A W
Long-run production function is related to which of the following?
(A) Law of demand (B) Law of increasing return
(C) Law of return to scale (D) Elasticity of demand

35.yRacieiiel 3rurd &1 7| Hefd &
(A) AIADBTA AR DI I A (B) SrE@Ta |
(C) IrudTed | (D) 31fa Sreara

Law of variable proportion is related to:

(A) Both short term and long term (B) Long term

(C) Short term (D) Very long- term
36.579 3 IS (AP) MfedHad BT &, dd dHrd Iare (MP)?
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(A) d SAE B A (B) 3id I | FHH BT

BIT © g

(C) 3fId IWIE ¥ 3D (D) SWH H 9 DIg AT B
BIT © SEI

When Average Product (AP) is maximum, then Marginal Product (MP)

is?

(A) Equalto AP (B) Less than AP

(C) More than AP (D) Can be any one of the

above
37.U% W4 BT IcTa Bl o

(A) dTEH (B) 3Tdl ud ffar § <\

(C) T (D) rEE

The production function a firm is:

(A) Production (B) Relationship between input and

output
(C) cost (D) factors

38.519 100 &S SUTGT B Dl el ReR NI % 30 BT AR 3i\a gRaddi
SNTd % 3 8 Al §f dnTd ghfi—
(A) %3 (B) %30
(C) R 270 (D) X330

When total fixed cost of production of 100 units is X 30 and the average

variable cost is X 3, then the total cost will be-

(A) %3 (B) 230
(C) 270 (D) %330
39.3(R9d ARTT ash &7 MBR BIAT B—
(A) U IIBR 4T (B) SMIATHR IfTIRIAT IThR
(C) x—31&T B! AAMIGR @ (D) TAH ¥ DIZ &

Page 12 of 31



The shaped of average cost curve is:

(A) U Shaped (B) Rectangular hyperbola shaped

(C) Line parallel to x-axis (D) None of these
40571 9 | I AT HAF A 7

(A) AC=TFC-TVC (B) AC=AFC +TVC
(C) AC=TFC+AVC (D) AC =AFC + AVC

Which of the following statement is true ?

(A) AC=TFC-TVC (B) AC=AFC+TVC
(C) AC=TFC+AVC (D) AC =AFC + AVC

41.89few amtg § fe=falRaa § o afafad fear smar 82

(A) e AN (B) I oI

(C) oo ATt (D) Swt T

Which of the following is included in Monetary cost?

(A) Implicit Cost (B) Normal Profit

(C) Explicit Cost (D) All the above
42.fFfafad # A B ReR amTd 7El 87

(A) <~ (B) W &1 Wit

(C) P=d AT DI AT (D) Wag! BT fhxm

Which of the following is not fixed cost ?
(A) Interest (B) Insurance Premium
(C) Cost of Raw Material (D) Factory Rent

43. MR yeRiq fear S &

ATR TR
(A o B) 3
(C) A%R (D) T 4 PIE T

MR is shown as:
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ATR

(A) 0
AAR
©

44 f&g 9Tk § AR = MR BIdT 27

(A) THTRIPR
(€) (A)Td (B) I

In which market AR=MR?
(A) Monopoly
(C) Both (A) and (B)

45 feafaRad o o9—a1 $U9 T8l 87
(A) 3I¥Id 3 (AR) 3R

PHT TP B
(C) (A)SR (B) T

Which of the following statement is true?

(A) AR and Price are same

(C) Both (A) and (B)

46.THTIBRT Ufrar o war Rer vedr 87

(A) AR
(C) AR 3R MR gFi

TR

B) 5

(D) None of these

(B) TSGR wferaiirar
(D) qof wftranfirar

(B) Monopolistic competition

(D) Perfect Competition

(B) 3iNId 3T &1 3R
AT N1 U 2
(D) T A PIg L

(B) AR curve and Demand
curve are Same.

(D) None these

(B) MR
(D) T W PBIs L

In monopolistic competition, which of the following remains constant?

(A) AR
(C) Both AR and MR
47. %9 & dger H BIaT §

(A) MR=MC
(C) MR<MC
For a firm’s equilibrium:

(A) MR=MC

(B) MR
(D)  None of these

(B) MR>MC
(D) MR=MC=0

(B) MR>MC
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(C) MR<MC (D) MR=MC=0
48 .31GH Ao a1 frefoRaa § a1 KRRt €2

(A) ol ANTH UG Pl (B) WM IMTH Ud A
SINGIIK] SINGINIR]

(C) (A)Ud (B) T (D) T | BIS

Which is a method of producer’s equilibrium?

(A) TR and TC Method (B) MR and MC Method

(C) Both (A) and (B) (D) None of these

49.7% ®H B a1 Refd # IUred a9 o=l 2 99

(A) eI IiAa arTa | (B) g 3id oArTd &
31 Bl ENENES]

(C) o3 3irga uRacd=eie (D) Hea 3ira uRad=reie
NI 9 AP 81 AN | HH 8

A firm produces in the State of loss when:

(A) Price is greater than AC (B) Priceis equal to AC

(C) Price is more than AVC (D) Price s less than AVC
50.9% # of & ke ged -

(A) TR DI DA (B) afera avqall &1 od

(C) SdIEA ARMI BT HIFd (D) Swt F

Determining factor of Supply of goods is:

(A) Price of goods (B) Price of Related goods

(C) Price of Factors of (D) All the above

Production

51.f5HT a&g @1 gfd @1 737 IR IWH HHT b 41 (B TR BT AR
qrIT ST 87

(A) faam (B) w&

(©) (A)Ud (B) &I (D) T 9 IS T
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Which type of relationship is found between quantity supplied of a goods
and its price?
(A) Inverse (B) Direct
(C) Both (A) and (B) (D) None of these

52.9f¢ fdl o @1 dHd H 60% @1 glg 8, IRy Yfd H dadl 5% B
gfg 81, U Oy @1 gfd 8r:

(A) IS AEER (B) @HEER

(C) defleR (D) YUic: delreEeR

If the price of goods rises by 60% but supply increases by only 5%, the

supply of goods will be -

(A) Highly elastic (B) Elastic

(C) Inelastic (D) Perfectly Inelastic

53.916IR @1 forefaiad 3 wra— faeivar &7

(A) TP & (B) samsil Td fasmarsil &I
Iuferfar

(€) oG P TF T (D) ST T

Which of the following is the characteristic of a market?

(A)One Area (B) Presence of both buyers
and sellers

(C)Single Price of the (D)AII the above

commodity

54.9TR Rerd 599 U opdT BIdT 2 hedldl &

(A) UBTEHR (B) gufIaR

(C) e (D) ST | BIS eI
Market situation where there is only one buyer is called:
(A)Monopoly (B) Duopoly
(C)Monopsony (D)None of these
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55.UBTERRI JfRrar &1 fFe=forlRag § @19 I fagivar 27

(A) faudiepd s (B) faspa «rTcd
(C) dNIR &7 Yol S (D) Swt T
Which one of the following is a feature of monopolistic competition?
(A) Differentiated product (B) Selling cost
(C) Imperfect knowledge of (D) All the above
market
56.f59 qOTR # BH B AT 9% U AR BT 27
(A) ol uferfrar (B) THIEHR
(C) weobrferdry gferanfirar (D) STHIEHR
In which market demand curve of a firm is perfectly elastic?
(A)Perfect competition (B) Monopoly
(C) Monopolistic competition (D)Oligopoly
57.9o1 fcrafar § @@ Rer Igar g7
(A) AR (B) MR
(C) (A) Td (B) Tl (D) T W BIg TAE

Which of the following remains constant in perfect competition?

(A) AR (B) MR
(C) Both (A) and (B) (D) None of these
58.f9 UBR & TR AT H ¥l 9] &1 b AR Bl Udh IATGH
I 87

(A) oi e (B) UdIE®R

(C) 3ol wferaifra (D) TTH | BIS

In which type of market Structure, there is one and only one producer of
an article?

(A) Perfect completion (B) Monopoly

(C) Imperfect competition (D) None of these
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59.907 IR 9ok # 99T B {5d IR &1 awgsll &1 IcaTe Hdl
g?

(A) Foe uldRemus (B) \™U
(€) fardgd (D) wfear
What types of goods do all firms produce in perfect competition market?
(A) Near replacement (B) Homogeneous
(C) Differentiated (D) Inferior
60.¥de dAd @& MUR® gcd diF 9 87
(A) T BT AT (B) g @1 qfd
(©) (A) T (B) & (D) & ¥ PIE T

Which factor determines equilibrium price?

(A)Demand for commodity (B) supply of commodity
(C)Both (A) and (B) (D)None of these

61."frd avg @ dmd 16T IR gl @ wiwal grr fRuiRa gy 27 fam
BBl AT?

(A) ST (B) dreR¥

(C) el (D) T 9 PIg

Who said, “price is determined by both demand and supply forces.”

(A) Jevons (B) Walras

(C) Marshall (D)  None of these
62.3a 39 fig w fufRa it 7 et

(A) oG B AT A B (B) &g @ gfi 1fdrw &

(C) o @ A AR 9% (D) ST ¥ BIg T8

B g a_IER &

Price of a commodity is determined at a point where
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(A) Demand of goods (B)  Supply of goods
exceeds exceeds
(C) Demand of goods and (D) None of these

supply of goods to be equal
63.90T # uRaas & F=felRad &I & HROT &7

(A) SUHIG & M H (B) afera avqall &1 @d
BIRCRE| H gRac
(C) e I (D) ST T
Which of the following is a reason of change in demand?
(A)Change in consumers (B) Change in price of Related
income goods
(C)Population increase (D)AII the above
64.9TSTR I YTAT STl &
(A) AP IR H (B) TrE@dTeld IR H
(C) fIE®Tel IR (D) T8 ¥ PIg &l
Market price 1s found in:
(A) Short period market (B) Long period market
(C) Very long period (D) None of these
market
65.31fT ereudmTel # gfel BN
(A) oI raRR (B) i darERR
(C) efreeR (D) T A BIS T
In very short period supply will be :
(A)Perfectly elastic (B) Perfectly inelastic
(C)Elastic (D)None of these
669 3 @1 Rerfd &Rl € o1a:
(A) | & A= e 8l (B) HRT U& gfd a_meER B8l
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(C) il &1 garm # AT (D) YfT @ qerr | AR

31feres &1 G|
Demand is in a State of excess when
(A) Quantity of demand is (B) Demand and supply are
high equal
(C) Demand is higher than (D) Demand is less than
supply supply
67.39T9 Hrd FaRe & 9 § - "ged 87
(A) o (B) oI
(C) = (D) T
Which is/are the component of factor(s) price determination?
(A) Rent (B) Wages
(C) Interest (D) All the above
68. 7t arefere @l fferRad § ®9 d IWW 87
(A) EHfed sy (B) ufdTe gergdl @
[ENEICIE SCRE|
(C) (A) T (B) 3l (D) T 9 PIE T

Which one of the following is the limitation of Macro Economics?

(A) Collective Economics (B) Ignores Individuals
Paradox units
(C) Both (A) and (B) (D) None of these
69 XISR Q‘lc&l*ﬂ Dl FH %1
(A) WIfae srvmrea | (B) wfte o= A
(C) wHfte efem | (D) T8 ¥ DIz A&l

Employment theory is related to:

(A) Static Economics (B) Micro Economics
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(C) Macro Economics (D) None of these
70374 eI g HRAT 77

(A) YOT ISR &1 (B) OHT PHd KR BT
(C) IPhd AL ITE BT (D) SWRIad FH &

Macro Economics studies:

(A) Full employment (B) Aggregate price level
(C) Gross National Product (D) All the above
71.% @ & ria Fr=iferRad # & o enfie 27
(A)  F& &1 A= (B) &+
(C) M H Gl g B AT (D)
Which one of the following is included in a ‘stock’?
(A) Quantity of money (B) Wealth
(C)  Quantity of wheat (D)  All these

stored in ware-house

72.fFrfaRaa § o A1 \afe s @ vy aw] e 87
(A) KT 3T (B) faeeh fafrm
(C) T &1 oM (D) 9rESIS I

Which of the following is not a subject matter of macro Economics?

(A) National Income (B) Foreign Exchange

(C) Law of Demand (D) Public Expenditure
7391 YAT8 B 3l [EfIRad § i e 27?

(A) dARAfA® YaTg (B) Hifg® uyare

(C) (A) T (B) &I (D) TTH | BIS 7

Which one of the following is included in Circular Flow?

(A) Real Flow (B) Monetary Flow
(C) Both (A) and (B) (D) None of these
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749918 & I AeforRad | I i 87

(A)  SU4IT (B) fraw

(C) 3ma (D) Swt T
Which are of the following is included in flow?

(A) Consumption (B) Investment
(C) Income (D) All the above

75. AR &R leReIT & B Y8 H A & oy e freAfaiad |
S Al 2?

(A) C+I B) C+I+G

(C) C+I+G+(X-M) (D) STH ¥ P 7l

Which is the equilibrium condition of circular flow in four sector model?

(A) C+H+I B) C+I+G

) C+I+G+X-M) (D) None of these
76,99 ANTd W Y& TSI IHUE BT HaT ofdl 57

(A) T ST (B) &ael faw

(©) =g (D) & A P T

Net National Income at Factor cost is called?

(A) National income (B) Gross investment

(C) Domestic income (D) None of these

77.f5¥) rferaRelT H Ud a9y & Jid ScaTiad S aRgall dr Hamll &

TR Hed &I HEd 2
(A) T IKH AR (B) M I
(C) H ;g M (D) fags s sere

The market value of all final goods and service produced in an economy

over a year is called:
(A) Gross National Product (B) National Income
(C) Gross Domestic Income (D) Net National Product
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78. U JrfIgeell # HIF 1 & gfaferd Yedr 27

(A) W (B) feda®
(C) TiIs (D) S8 & 9l
Which sector is included in an Economy?
(A) Primary (B) Secondary
(C) Tertiary (D) All of these
79.meAfe erm | fFrEfoiRad § wie e 2?
(A) (B) a4
(C) @™ (D) T I+
Which is included in primary sector?
(A) Land (B) Forest
(C) Mining (D)  All these
80.fe<irae &3 ¥ for=aferRad ® 19 A1 Aarsll &1 wfFafera fbar Sar 27?
(A) 9 (B) fafemior
(C) <mR (D) dfe
Which one of the following is included in secondary sector?
(A) Insurance (B) Manufacturing
(C) Trade (D) Banking
1. & ffalRad § @19 — | =cd 87
(A) T (B) orfdaRa o™
(C) T mH &M &R (D) SuH T
Which are of the following is a component of profit?
(A) Dividend (B)  Undistributed profit
(C) Corporate Profit Tax (D) All the above
82. 7% faf*ra wormell & @ &
(A) &R YoTTel! (B) 3o¥l WEAT R gfe
(C) e RAMAN &l (D) SuH I
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Advantage(s) of Barter System is/are:

(A)Simple System (B) More Mutual Cooperation
(C)No Economic disparities (D)All the above
83."9aT 98 © Sil T &I B WX fhat war or?
(A) e fagd B) &
(C) . a9 (D) @&

“Money is what money does” who said it?

(A)Hartley Withers (B) Hawtrey
(C)Prof. Thomas (D)Keynes

84151 & H1d
(A) T3 &1 AregH (B) ¥ &I HUD
(C) T3 &1 2™ (D) S8 & 9l

The functions of money is

(A) Medium exchange (B) Measure of value
(C) Store of value (D) All of these
85.Fre % <1 B Rt T 7
(A) g HqaT (B) =T UH o
©) wwe (D) T 4 BIE T
Which of the following is Legal Tender Money?
(A) Credit Money (B)  Circulated Paper Money
(C) Draft (D)  None of these
86. MRS §& & UAMAS BRI B A 87
(A) SV HR HIAT (B) FEUT <A
(C) =g A (D) Sudad |+

Which of the primary function of Commercial Bank?
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(A) Accepting deposits (B) Provide loans
(C) Credit creation (D) All the above
874G UH B &

1 1
(A (B) TP X R
(C) +/@e x CRR (D) 7 ¥ BIS el
Credit Multiplier is:

1 1
(A) CRR (B) Cash x CRR
(C) Cash xCRR (D)  None of these

88.MUIR® d:

(A) e e oxar @ (B) UTEHI A O WIHR HRAT &
(C) UTEDI BT FIT <l © (D) @®da (B) wa (C)
Commercial bank:
(A)Issue currency notes (B) Accept deposits from customers
(C)Provide loan to customers (D) Only (B) and (C)

89.®aI db §IRT B9 AT HaT SIRT B STl 57

(A) e T (B) e qg1
) R (D) T & W
Which type of currency is issued by the central bank?
(A)Currency (B) Credit money
(C)Coins (D)AIl of these
90.3 H HITON AlC SR FHRA BT B BIF HRT 27
(A) aR® d® (B) dag d®
(C) Sienf® d§% (D) faeg ¥
Who issues paper currency in the country?
(A) Commercial bank (B) Central Bank
(C) Industrial Bank (D) World Bank
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O1.fr=1 § & o wrg a1 o1 qonere fafdr 27

(A) 9@ B THS PN (B) SUHIHI |G WR HHF0T
U H uRac
(C) ol IR BT HRIHA (D) % T ¥ uRaad
Which of the following is a qualitative method of credit control?
(A) Change in cash reserve (B) Restriction on
ratio of Banks consumer credit
(C) Open market operation (D) Change in Bank Rate
92951 gfd &1 FRIF0T B FRaT 2?
(A) YRT WRER (B) Rod 9% &ifw gfear
(C) o 9 (D) ST SR
Who regulates money supply?
(A) Government of India (B) Reserve Bank of India
(C) Commercial Bank (D) Planning Commission

93.9Rg H&T &1 faRAR BIaT & oid CRR:

(A) wear @ (B) dedr g
(C) (A) T (B) &I (D) TTH | BIS
Credit money is increased when CRR ?
(A) Falls (B) Rises
(C) Both (A) and (B) (D) None of these
94 RRFEH FART BT = g 9 27?
(A) I IR (B) dfesT o
(©) P goR (D) SRR R GeIR
With which Narsimham committee is related to:
(A) Tax Reform (B) Banking Reform
(C) Agriculture Reform (D) Infrastructure reform

95. 1980 H Gt fha=T debi BT IEIIHRYT fhar AT o1?

Page 26 of 31



(A) 20 (B) 6

() 8 (D) 10
How many banks were Nationalised in 1980 ?

(A) 20 B) 6
© 8 (D) 10

96.98THeT fhd ¥ amg ofi?

(A) 1949 (B) 1939

(C) 1929 (D) STH ¥ DI A8l
The great dispersion carb in which year?

(A) 1949 (B) 1939

(©) 1929 (D) None of these

97.311 Td IUTG & Ao R W AHEd AN 7 gy 8lb wR e gig
Il 67
(A) RISTTR (B) SedTed
(©) o (D)  Sud Wl

Which increases due to increases in aggregate demand of equilibrium

level of income and production?

(A) Employment (B) Production
(C) Income (D) All the above

98.®1=4 T I Rigld =1 3§ ¥ fhaa I T Iiud &Rl 87
(A) a9 qor g & 9= (B) 3 QAT IYMNT & 419
(C) dad qr fasr & 9= (D) S8 9 DI T8l
Keynesian multiplier theory establishes relationship between which of the
following?
(A) Investment and Income (B) Income and Consumption
(C) Saving and Investment (D) None of these

99 TR HIfT & 3r=rid by e fhar omar 87
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(A) SdSIG g (B) HRRIYU

(C) STdSIS 0l (D) SudH T

Which one is included in Fiscal Policy?

(A) Public Expenditure (B) Taxation

(C) Public Debt (D) All the above
100. fr=faRad # & W0 Iora witd 72 87

(A) O B Igel (B) faqel arge™

(C) STGSI® SUHH D A (D) HuURY o

Which of the following is not a revenue receipt?

(A) Recovery of Loans (B) Foreign Grants
(C) Profit of Public Enterprises (D) Wealth Tax

gvs—4 / SECTION-B

g S<Rig 929 / Short Answer Type Question
U GAT 1 W 30 Tob Y IY U B | T 4 fHEi15 ueAl b1 SR < |

TP veAl & forg 2 3fe feiRa B 15 x 2 =30
Question Nos. 1 to 30 are Short Answer Type Questions. Answer any 15
questions. Each question carries 2 marks. 15x 2 =30
1. T ST FgRT 9 F7 AR 2? 2
What is meant by factor price determination?
2. golrard] sreferdell ol JHe | 2
Explain capitalistic Economy .
3. IUAIHT AT B GRATHT ST | 2
Define consumer’s Equilibrium .
4, ‘g=BT SR HAT H QA SR qAr? 2

Mention two differences between ‘Desire’ and ‘Demand’

5. AFT &9 YUid: QR AR g9 27 2
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When the demand becomes Perfectly Elastic Demand?

6. I & ReR |reAl ¥ @ar arcad 272 2
What is meant by fixed factors of production ?

7. A NI @1 GRATST ST | 2
Define Marginal Cost.

8. Tl JNTH P Tl URH B <l 57 2
When does the Total revenue (TR) starts declining?

9. BH & AJe A FT AT B° 2
What is the meaning of Firm’s Equilibrium?

10.9fT &1 o qard | 2
State the Law of Supply.

11.9f @1 @¥d @ &1 FaT AT 57 2
What does price elasticity of supply mean?

12907 AfAfrar @ &1 faeivar ford | 2
Write two features of perfect competition.

13.915TR Hel= DI @1 fdd==T HIfiy | 2
Explain the market equilibrium price.

14.2[cq= AT f6d ®ed 82 2
What is derived Demand?

15. 3t arfeme ok FHfe aiefed # R qar | 2
Mention the difference between Micro Economics and Macro
Economics.

16,31 & JATE &1 =hig UaTg Fdl dHad & e 2

Why Flow of income is called circular Flow?

17.9%d B¢l TG qAT AhHd LT IS H T JHR g | 2
Mention two differences between Gross Domestic product and Gross
National Product.

18. BRI T &7 2
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What is transfer payment?

19591 @ &1 7 P e | 2
State two secondary functions of money.

20.31efegaRerT § WG AT B dRar 27 2
Who creates credit in the Economy?

21. el IR Bl BRIATS! W FT AT 2° 2
What is meant by Open market operation?

22,92 TRReed At @ gl &l RwiRe @ fo | 2

Mention any two recommendations of first Narsimham committee.
23,999 | BT 3ef qqr | 2

State the meaning of aggregate demand.

24,310 HT Faa—d giedpIor F1 87? 2
What is Keynesian saving-investment view point?
25. M SYMIT UgRT & w9 | a1 o &1 93 9an | 2

State the formula of investment multiplier in terms of MPC.

26.3qEhIfTh AT Bl RO Bl W DY | 2

Explain the concept of deflationary gap.

27.d4% R ifa @ 77 2
What is bank rate policy?

28.3Tferefiel R BT g < | 2
Define Progressive Tax.

29.Rer faffma &) @I &7 2

What is fixed exchange rate?
30. IR HJAT I RIT AT 2? 2

What is meant by Trade balance?

dre I8 wed / Long Answer Type Question

7o FeqT 31 W 38 e ST H57 8/ 574 W [578) 4 ¥ & GOV &/ B
@ forv 5 3/ fFEiRT &/ 4%x5=20
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Question Nos. 31 to 38 are Long Answer Type Questions. Answer any 4 questions.

Each question carries 5 marks. 4x5=20

31.H & 99 & @7 3ruarg g7 HHSI | 5
What are the exception of Law of Demand? Explain

32,97 @1 M BT JIfAd BT aTel dedl &1 AT BHITTg? 5
Explain the factors determining elasticity of demand.

33.Rer g uRaceliar arTd # itk e HIfoTg? 5
Distinguish difference between fixed and variable cost.

34.9f @7 o/ ATY @1 At [y | 5

Explain the methods of measuring elasticity of Supply.

35.4916TR Hed Ud A Hed H RER 99 W © EQI 5

Explain the relationship between market price and normal price.
36.9R0 Red 6 & 9= dEf &7 9o o) | 5

Explain the main functions of Reserve Bank of India.

37 . TRBRNT goc & ST bl I8y |

State the objectives of Government Budget.

389 Y H °C & AU B WL BT | 5

Explain the meaning of deficit in balance of payment.
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